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ol SAEY E OEU0B0HAEE £2 (EEEE))
RA B - SRA(E) - MIRAR - B ol &4 e HIDEY
1LOHR2 e 2208 24
3,000& «22H+32 198
307 212+01™ 16,297 12,270 4,027
0122 # /=4 16,297 12,270 4,027
1. AN 2 40,0003 *400H 16,000
2. LM 2 4,500 ~66H 297
HH2IZH|(22AD) 6,256,762 6,268,698 11,936
Il 36,069
Al 21,662
T 6,199,031
el 2] 5,843,893 5,847,165 N3,272
J| 36,069
Al 21,662
- 5,786,162
2| 5,746,180 5,753,099 A6,919
101 e124d| 5,712,423 5,719,352 A6,929
01 2= 5,335,699 5,352,601 /16,902
(22) 3,414,680
1.2 HI(3L) 266,774
Oh5(RBAMT ALSTDT, D)
87,181,000& 3% 261,543
WSS Ry Fala] 261,543,000 x2% 5,231
2. X2 E(0Y) 3,147,906
oh.62(2388)
4,288, 1002 18L&~ 128 926,230
Lh.72(11ss)
3,033, 1002 x20E «12& 727,944
th.es(7e3) 2,363,500& x42H~ 12 1,191,204
et.o=2(683) 2,006,700 102~ 12& 240,804
OF. X0 3,086, 182,000 *2% 61,724
(&0==) 392,376
1L.UHRSRE=E 64,890
tsstR622r53)
4,486,500 12 *4 . 1%+ 122 26,489
Lt.6SU<(721522)
3,376,002 «8H 4. 1%+ 123 13,292
Ch.720<(839&8)
2,551,700 +20& *4., 1%+ 122 25,109
2. 82 3,147,906,000& %1/ 12 262,326
3.32=EoHts 65,160
Jh.25301 & 130,000 x10& 122 15,600
L+.20 0] &~25E 0] 2t
110,000& x32* 123 3,960
Ct. 15 0(&~204 012
80,000& *10E 128 9,600
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2N BAHW
S HY2AIAH(22H)
SERRIEESS(T CERL
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
ct. 1020l &~15= 0] et
60,0002 x6 122 4,320
Ot.5501&~10= 018t
50,000 *39Z « 12& 23,400
gt.5=0| 2+ 30,0003 *23E 123 8,280
OHHEE ) 119,760
1.0t85Y 47,760
Jb Ut 40,0003 *418 123 19,680
LE.JIEDIS 20,0003 =158+ 12& 3,600
Ct. =M At 30,0003 *22Z = 12& 7,920
ct.EMAH 70,0003 +15H*12& 12,600
Of. AR AHA 110,000& x3Z » 123 3,960
2. 5058+ 1,500,000& *4Z =128 72,000
(s42242) 75,240
1.9182f4 8,400
HE23 50,0002 x10H + 122 6,000
L83 40,0003 «5F = 12& 2,400
2.5 RE 66,840
FtoIsdEE 21,240
1).530/4 50,0003 * 1« 12& 600
2).6~72 30,0002 23+ 122 8,280
3).86=0135t 20,0002 *31¥+ 123 7,440
£) IHB(12IA)
30,0003 x2H 123 720
5).0tar=2 (22-AFH DI AL
20,0003 =128+ 12& 2,880
6). 2HGRLEH(672)
10,0002 x 18+ 12& 120
7). 28A242(8-92)
20,0003 x5H 123 1,200
Lo 2 18,600
1). 2t S A 50,0002 23K+ 122 13,800
2).2|2 At 50,0002 x8H*12& 4,800
ChS4a24g 27,000
1).82AX A 80,0003 11+ 12& 10,560
2). 0l 50,0003 x5+ 12& 3,000
3). Mtord e |~
80,000 =148+ 12& 13,440
(Z22R2Y) 169,605
1.A12t2 2R+ 169,605
t.6=2 12,8442 x9Z «34A | 2Hx 12 47,164
Lt.72 11,6022 x99 «34A| 2t 123 42,603
Ct.8= 10,4163 * 15 *x34A| 2H+ 12F 63,746
ct.oz 9,860 x4H+34A| 2t 123 16,092
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S 221
M HARAZH|(2A1)
chel: ol (SHol: 12
RA B - SRA(E) - MIRAR - B ol &4 e HIDEY
(AHIZ4 8) 473,311
[IESEU= T 140,000 x4« 122 157,920
2. BEFOHI 3,147,906,000& *1.2/12 314,791
JEESRE+E 100,000& +6E 600
(22 xHI) 201,360
RSEEES] 201,360
t.52 250,000 «3H = 12& 9,000
Lt.6= 185,000& x18H 122 39,960
Ct.72 180,000& x20F 122 43,200
ct.8~9=2 175,000 x52EF « 12 109,200
(DI 4=4E) 128,874
1.8 8,489,970« 128 101,880
2. ™M HH| 101,880,000 *2% 2,038
3. IESZ (WAL 40,0003~ 123 480
4.2 2HRE 1,212,000& « 128 14,544
S5 E XS 100,000 «12& 1,200
6. 2HSAH| 140,000& « 122 1,680
7. AS 22| 400,000& + 122 4,800
8. NEEE 128,660,000%1.75% 2,252
(LEHADIH 524 234,142
1.8 7,268,000 «2F ~ 122 174,432
2. XM HH| 174,432,000 *2% 3,489
3.8+ 42,061
o= RH
1,200,500 «2F « 122 28,812
LE Al RI =S
15,0003 x2& x34AI 2H+ 123 12,289
ChotE=E 960
[L:[EVN; 40,0003 =2+ 123 960
4. ZHSAHI 140,000& =2« 12& 3,360
5. 4522l 400,000 x2E 122 9,600
6.CHeI &SI 50,0002 2~ 122 1,200
(LEHADIM 72 4) 66,366
.92 4,523, 7003« 1F 122 54,285
2. 1Ml 54,285,000 *2% 1,086
3.0932+E 5,334
Loz
50,0002 1~ 12& 600
LEAIZIIZ22SE
11,6022 *34A| 2t 122 4,734
4. ZHZAHI 140,000& x 12+ 123 1,680
5. 852 &H| 185,000& x 12+ 123 2,220
6.CHeI &SI 50,0002 1+ 123 600
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=aak

o 0% H
JU 0x 1Y
Mo Mo &

02 09
=

0k
=8
[h
Y
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SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
7.08588 66,291,000 *1.75% 1,161
(ZBtAIIN 924 ) 59,985
1.8 4,128,430 x1B+ 122 49,542
2. 44 H| 49,542, 0003 *2% 991
3.99282+4 4,023
Jb A=Y
9,860 *1G+34AI 2tx 12 4,023
4. HHZAlY| 140,000 1B+ 122 1,680
5. 822Xl 175,000 1F + 122 2,100
6.0HEIE S| 50,0003 1+ 123 600
7.18584 59,927,000& *1.75% 1,049
02 JIEt& &2 72,621 58,917 13,704
(HaE) 72,621
1.20(63S) 4,213,420 1B+ 128 50,562
2. - IHAH| 50,562,000 *2% 1,012
A3 (F2+E) 50,562,000 *1/12 4,214
4. N2l gt
12, 1333 *34A| 2Hx 1B+ 123 4,951
5. 82EIIza 1,560
Jb.25E0] 4 130,000& 1H+ 122 1,560
6. ZAZAlH| 140,000 x1H* 123 1,680
7. BE SOt 50,562,000 *1.2/12 5,057
8. A= E2xH| 175,000& 19+ 12& 2,100
9.0421&t=H| 50,0003 x1E 123 600
10. 0228 50,562,000 *1.75% 885
03 SR (RIHL) 22X 304,103 307,834 A3,731
(B254) 36,636
1.8 36,636
.20(2ss)
1,871,600&*1Z*12& 22,460
Lt &3 1,871,600 *240% 4,492
CH.E3ES0tl 1,871,600 *120% 2,246
ct Al 140,000 x1F + 122 1,680
Ot WSE2ZLH| 120,000 1H+ 122 1,440
gt AIRII 2 R+E
11,9913 x150%+ 10A[ 2H< 12 2,159
A XIS 96,000 * 1+ 15 1,440
Of. M K& H| 35,917,000 2% 719
(LAIHRIA 39,872
1.8 39,872
30 (1058)
2,007,600 x1H +12& 24,092
Lt &S 2,007,600 *240% 4,819
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S 221
S HY2AIAH(22H)
chol: ol (19l @2
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
Ct. @& =t 2,007 ,600& *120% 2,410
ct HAZAlH| 140,000 x1H* 123 1,680
Ot WSS Xl 120,000 x1F + 122 1,440
gt AlIRIRI 2 2+E
12,9153 x150%+ 10A[ 2t 12 2,325
A AXIE 103,320 x1H x 19 1,964
oL S8R
30,0003« 1H 123 360
PNIPSECY] Falall 39,086,340 *2% 782
(S2IXIZ A 38,050
1.8 38,050
.20 (5&8)
1,922,600&* 18123 23,072
Lt. &3 1,922,600 *240% 4,615
CH Y2 &3Ot 1,922,600 *120% 2,308
ct Az AlH| 140,000 x1H* 123 1,680
Ot nESXEHI 120,000 x1H* 123 1,440
gt A2t 2R
12,427 &+ 150%10Al 2t 12 2,237
A AR 99,4102 x1Z » 16 1,591
OLEARSEY
30,0003 x 1« 12& 360
PNIPSECY] Falsll 37,303,000 2% 747
(HLMEXAHE MIFXKL) 37,517
1.8+ 37,517
20 (TESs)
1,956,600 *1H =128 23,480
Lt A0S 1,956, 600 *240% 4,69
CH.Z2E S0t 1,956,600 *120% 2,348
ct. HAHZAlH| 140,000& x 15+ 12 1,680
Ot WSS ZEH| 120,000 x1H +12& 1,440
gt AlIZ2+2l =
12,6223 x150%* 10A| 2H+ 123 2,272
A AR 100,976 *1H x5 505
OLEERSY
30,0003 *1H 123 360
PNIUSED] Fala] 36,781,000 2% 736
(HLMEXAHE 2tSA}) 37,811
1.8 37,811
20 (8&83)
1,973,600& x 19+ 12 23,684
Lt A3 1,973,600 *240% 4,737
Ct.E3ES0tI 1,973,600 *120% 2,369
ct. ZZAlH| 140,000& 19+ 12& 1,680
Ot nESE X 120,000&x1E+ 128 1,440
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A 2A1
T WHSYAM|(HAD
el QIEE2E
RN - I BRA(E) - HRA - BES of v A
IEEEEEE
12,7203 % 150%+10A1 2t 122 2,290
NP 101, 76021%1 24521 509
OF SaE2Ag
30,0003 x1&8* 122 360
NISEVFalsl 37,069,000 *2% 742
(B4 HAY) 91,426
1.8 91,426
HolEa6ss)
1,302,800 x4H 12 62,539
L. S22
1,302, 8003 x4 & +30%*22] 3,127
Ct. ZHS A 140,0002 ~4&« 122 6,720
ch. Xt
13,0013 +5A| 2H+4 & 16 4,190
OF. W SEAH 120,000& x4~ 123 5,760
Bt EOI40=
1,302, 890%70%+4 Z +22] 7,297
Ab. X SIH &I 89,633,000 «2% 1,793
(ALMEXNHEH HAR) 22,791
1.8 22,791
Hol=226sS)
1,302,800« 1F 122 15,635
Lh =S
1,302, 890 x1H «30%*22] 782
Ct. HAHS A 140,000& x 1= 123 1,680
ch A Xt==E 13,0012 x5A 215 982
OF. W SZ22&H 120,000« 122 1,440
B EO14 0= 1,302,890 x 12 *140f% 1,825
Ab. KM IH&HI 22,344,000 *2% 447
WM HSEE=S 33,757 33,747
M 3RA(RIY) 22X B828E=3 S 33,757 33,747
1. 18EE= 5,324
254 36,636,000 1.75% 642
Li. & HelAt 39,872,000& *1.75% 698
Ct.ZScIXIZ At 38,050,000 *1.75% 666
ch AZMETRAME MFXSA
37,517,000 *1.75% 657
O AZAEXRAME 2tS At
37,811,000 1.75% 662
224 HAR 91,426,000 *1.75% 1,600
AL AL METHE HAR
22,791,000 *1.75% 39
24 EE = 2,561
.25 36,636,000 +0.841% 309
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SA: BT
A HZYRAZHI(E2AM)
ohel: oI 23| EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
101 @124H| 40,583 39,306 1,277
Jl 13,400
Al 6.700
- 20,483
03 SRA(RIH L) 222+ 40,583 39,306 1,277
1.2 40,583
tol1Ea(13E8) 2,058,600+ 12 24,704
Jl 13,400
Al 6.700
- 4,604
Lt.&f0i= 2,058,600 x240% 4,941
CHEEFOH 2,058,600 *120% 2,41
ct. 3 HS A 140,000 ~ 128 1,680
0L RS2 ZH| 20,0002 * 122 1,440
B A2l 4 g
13,2083 *150%+10AI 2t* 12 2,378
Ab A Xt==& 13,2083 *8Al 2H+20 2,114
O XA 30,0002~ 122 360
NSO EW ol 2,058,600 <2+ 122 495
201 el 100 100
01 AlR2telHl 100 100
1.101=4| 100,000 *12] 100
202 04l 2,400 2,400
01 =LHNHI 2,400 2,400
.28l 200,000 x 122 2,400
M4 HASFESS 9,291 7,650 1,641
M BRA(RIAHSL) 22N BEEE2RE=s S 9,291 7,650 1,641
LIEEEERES 40,538,000& *1.75% 710
2ANEEHZRE=S
40,538,000 +0.841% 341
3.20HSEES 40,538,000& 4. 5% 1,825
4 A0BEERE=S 40,538,000 *3.545% 1,438
5. -0 BINQYEEFHES
1,438,0002 %12.95% 187
6.EIXEE= 4,790,000 *12] 4,790
QlHARHH|(EALZES L ALY) 45,339 44,610 729
Jl 22,669
Al 14,962
- 7,708
101 @124H| 36,914 39,036 N2,122
Il 18,457
Al 12,181
- 6,276
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S 221
A HZYRAZHI(E2AM)
chol: ol (19 @)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
03 SR (RINAHA) 222+ 36,914 39,036 N2, 122
1.8 36,914
ot20i(853) 1,973,600 x1&8 =122 23,684
Jl 11,842
Al 7,816
T 4,026
Lt.&f0is 1,973,600 12 %240f% 4,737
) 2,369
Al 1,563
T 805
CtH EEFOH 1,973,600 * 1 *120% 2,369
) 1,184
Al 782
T 403
ch. S atl 140,000 x 12 * 122 1,680
Jl 840
Al 554
- 286
Ot W S22 X&H 120,000 x 12 * 12 1,440
7l 720
Al 475
- 245
BhAIRZRIZ 22
12,7202 x150%+ 10AI 2t x 122 2,290
) 1,145
Al 756
T 389
A EFHIE 20,0002 12 240
) 120
Al 79
T 4
Ob. X< IH&HI 1,973,600 x2%* 122 474
Jl 237
Al 156
- 81
202 04l 1,200 1,680 A480
Jl 600
Al 3%
- 204
01 2LHoIH 1,200 1,680 2480
1.£&H] 100,000 x1&* 122 1,200
Il 600
Al 3%

_24_




S 221
A HZYRAZHI(E2AM)
el i Eg| (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
- 204
M HASFESS 7,225 3,8%4 3,331
Jl 3,612
Al 2,385
- 1,228
04 SRA(RIH )22 BEE=RES S 7,225 3,8%4 3,331
1.=2dsS28E 36,440,0002 *4. 5% 1,640
Il 820
Al 541
- 279
2. =AHSEE 36,440,000 *3.545% 1,292
Jl 646
Al 426
- 220
3. LQEIQRUYEE 1,292,0002 *12.95% 168
Jl 84
Al 56
- 28
408288 36,440,000 *1.75% 638
) 319
Al 21
- 108
S5 EE = 36,440,0002 +0.786% 287
Jl 143
Al 95
- 49
6.8 8EE= S 3,200,000& 3,200
) 1,600
Al 1,056
T 544
Jl=3H| 412,869 421,533 N\8,664
Jl=23H] 412,869 421,533 A\8,664
201 er23y| 315,857 310,921 4,936
01 AtR2t2|HI 97,191 92,255 4,936
(get=24l) 54,103
1.2AN2E Sl 200,000 38 +80% 6,080
2.FEURE TSI
1,000,000 * 17 2+80% 800
3. EF6004 S S &L AIH = X124
30,0003 *27= 810
4. BR210 S A 2l
10,0002 x50 *32] 1,500
5. N2 2=l MIt ol
16,0003 *70% 1,050
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FA 21
A HZRAZHI(E2AM)
s JlEdhl
S A - BRI - HRA - BES of e A
6.0l =2 &
300,000+3CH+*32] 2,700
7 EMARLES 150,000 62 900
8.5 A= 150,000 *2CH 300
9.8 AR 1,200,000& %12 1,200
10.283842 450,000 22 900
M.EADJIAAEREYEA
800,000& *12 800
2. =ZSSMFFE 100,000& %12 100
1B IAAI D A HUS S
30,0002 »1CH 30
4. 2IIHEI| LX2
30,0002 *1CH* 12 360
1Bb.e2aI 2t
30,0003 4Lt * 122 1,440
6. % % MIHTIZ 4u2
5003 «120Lx 123 720
7. SAH T ZS B4R
18,7003 x2& *43] 150
1B8.BUHHSHE =Xl
200,000& * 122 2,400
19.013AM2H 3,970
JhHLARSE 210,000 #3CH*23] 1,260
Lt Q121 AR A A
2003 +55+1,0000H 1,000
ChOREAARTAR]]
70,0003 158 A 1,050
ch QIRAE=HHD| =H X
110,000 +62 A 660
20.HIIWg=ESKell
200,000 *23] 400
21LEIIOEEY (3 442
789,360 122 9.473
2.20IAYAAR 2 248
450,000 122 5,400
2B AMAL B2 U8 242
400,000 12& 4,800
24520 ANHMEE e ===
230,000 =2CH* 122 5,520
5. TAIA HED| 2oiEd
1,100,000 %12 1,100
26. 80| 28| €8 SA
1,200,000& %12 1,200
(FIEtW=HI) 1,000
120U AE W=
40,0003 *17H 680
2. 2 S AHRIE W =H| 40,0002 ~8H 320
(ml=Hl) 1,334
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FA 21
T BHSAAY|(FAD)
&t JI=Z (CH9: &S1)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Lt 2832 (88 50,0002 4CH 200
5. ASkEE= 4,380
IsEX 130,000 *2CH 260
Lt AESE(SE 200,000 *4CH 800
Ct. =Xt 320,000+ 1CH 320
2t S482APSH
3,000,000 *1CH 3,000
6. DERYRLS
7002 *3,898m° *1.349+0.5 1,841
7. 2HNERES 960
A= 80,0002 x6CH*23] 960
8. AYOtM 22| AHE 2/4|
70,0002 %12 70
(A=Hl) 72,000
LEAMELY & de [
6,000,000& «12& 72,000
(Xhe - &) 17,270
1.53x 1,100, 000%2CH *90% 1,980
2.7gxt 2,000,000 *2CH*90% 3,600
3. 482 (5E) 2,500,000 =5CH*90% 11,250
4. A 55,0002 «8H 440
202 04t 78,180 92,580 14,400
01 =LHOHI 70,080 84,480 14,400
1LEASIFAD|2048]
20,0003 x 102 x42& 12 +60% 60,480
2. 3%FA oyl 9,600
b AatgelAt
20,0002 102/« 1~ 122 2,400
Lt.ScIXIZ Al
20,0002 x102|x1&* 12 2,400
Ct. AL MEX2HEH I
20,0003 x102/x1& 128 2,400
ch. AL SN 2HEH 25 AL
20,0002 102/« 1~ 122 2,400
02 A0 8,100 8,100 0
1.2 NI 225,000 «3H 123 8,100
203 =8| 12,032 12,032
01 J122geR=4a| 2,970 2,970
12228 3,300,000 *90% 2,970
02 HRAJAHARFAIH| 4,040 4,040 0
1SRN 40,0002 %101 4,040
M EAEER=A 5,022 5,022 0
1.01= 400,000& 122 *90% 4,320
2. =1 5,0002 * 132 » 12«00k 702
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1. 82218 II=8| 100,000 %10 1,000
Il 800
Al 140
T 60
(R n=Hl) 3,400
1.ZAI=2 80,000& »302 2,400
Jl 1,920
Al 336
- 144
2. 82018 W=H| 100,000« 10 1,000
Jl 800
Al 140
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od
i’
o
uJ

-

KIO

Hlw

2,808

MEE
Ofl &k2h

10,053

Ofl &F2H

1,600

1,000

800
140

J|

Al

J|

Al

12,861
8,000

8,000
6,400

Il

1,120
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800
640
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J|
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168
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Qo A
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o
T

1.XIOH XIS At &2l

2
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3
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M0

(AIERXY)
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TAIZ2EHl 2224
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nE
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FA ABSL
Mu: R HUED U A0 B EA
el Bd A2 RAE fe A X2 (EEEE))
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 4
4 NHSAEE =2 600,000 *1CH*12] 600
l 480
Al 84
- 36
202 04| 7,500 8,400 A900
Jl 6.000
Al 1,050
- 450
01 =LHNHI 7,500 8,400 A900
1.3%& 220l 150,000 %10 1,500
Jl 1,200
Al 210
- 0
2. ANZEEERIZINM 2 &0
50,0002 x10E* 122 6,000
Il 4,800
Al 840
- 360
301 LEetE2 N = 7,020 2,640 4,380
Il 5,616
Al 983
- 421
11 #AIMHIXIE = 6,220 1,600 4,620
86 2 220 29 S
3,000 +1,600& 4,800
Jl 3,840
Al 672
2 268
2. XIHQHAOIE 2
5,0003 %1002 *23] 1,000
Il 800
Al 140
- 60
3. UHESAH S| 14,000& »302] 420
Il 336
Al 59
- 25
14 0Bt 243 800 1,040 A240
1. XO==2E D At ZOAL 2HIZ A S
pa 5,000& »160H 800
Jl 640
Al 12
- 48
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=M ABBE
ma: R AUSA U Mo B A
el Bd A2 RAE fe A X2 (EEEE))
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
307 lztol & 187,000 135,400 51,600
Jl 149,600
Al 26,180
- 11,220
0122 & 2= 187,000 135,400 51,600
LA 2525 S 160,000,000 160,000
Jl 128,000
Al 22,400
- 9,600
2. XIOH & A At 150,000 »100H 15,000
Jl 12,000
Al 2,100
- 900
3.XIHZ E S At 80,000& »150H 12,000
Jl 9,600
Al 1,680
- 720
XOHXIZ 22 8l XI& A 248,660 248,660 0
Al 186,500
- 62,160
308 XXM SO0IH 248,660 248,660 0
Al 186,500
- 62,160
18 SIS0t oA AS A 248,660 248,660 0
LAXI &=l & SFHHl X2
248,660,000 248,660
Al 186,500
- 62,160
=5 N B3=A 2,400 2,650 A250
Jl 1,920
Al 240
- 240
301 EtE NS 2,400 2,400 0
Il 1,920
Al 240
- 240
14 DBt 2 a3 2,400 2,400 0
1L.Ass=4 23|
200,000« 1H =122 2,400
Il 1,920
Al 240
- 240
SEHEANE 29 493,843 465,140 28,703




FA ABSL
Mu: R HUED U A0 B EA
el Bd A2 RAE fe A X2 (EEEE))
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 493,843
307 gl2tol & 493,843 465,140 28,703
Al 493,843
02 2B YA E X 493,843 465,140 28,703
LEUMEANE 2EEX
493,843,000& 493,843
Al 493,843
FaEE X=Hl N A 59,120 56,800 2,320
= 29,560
Al 14,780
- 14,780
307 212+01& 59,120 56,800 2,320
= 29,560
Al 14,780
- 14,780
012z € /=4 59,120 56,800 2,320
1L.34EE X8l X3 AL
59,120,000 59,120
= 29,560
Al 14,780
- 14,780
JIZZAL=REE SAML X+ 4,000 3,950 50
Al 2,000
- 2,000
307 glztol & 4,000 3,950 50
Al 2,000
2 2,000
05 QI2t9IEt2 4,000 3,950 50
I EHAALSTME SAK 2X4E
4,000,000& 4,000
Al 2,000
- 2,000
I=ZaAL=STHE2SE K 51,100 51,100 0
7l 25,550
Al 12,775
- 12,775
307 @I2t01 & 51,100 51,100 0
Il 25,550
Al 12,775
- 12,775
05 212t =S 51,100 51,100 0
1 2ZAAZ=SANH2E K&
51,100,000 51,100
Jl 25,550
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2A: ALSE
Mu: R HUED U A0 B EA
o Ha A2 RAE R AIE K& (EEEE))
SN - B S(BH) - HBAY - BAS 0 &y e HIRS2
Al 12,775
- 12,775
JZHAMALSKIME 14| 597,040 537,320 59,720
J| 298,520
Al 149,260
-+ 149,260
307 2I2t01 ™ 597,040 537,320 59,720
J| 298,520
Al 149,260
- 149,260
05 a2t e 597,040 537,320 59,720
1 ZHAAHALSKIHE 14|
597,040,000 597,040
J| 298,520
Al 149,260
- 149,260
SEHAMALSEAIS 175,600 148,000 27,600
| 87,800
Al 43,900
- 43,900
307 QIZ2t0IA 175,600 148,000 27,600
J| 87,800
Al 43,900
- 43,900
05 QI2IRIE = 175,600 148,000 27,600
1. SEENAHALSEAS
175,600,000& 175,600
J| 87,800
Al 43,900
- 43,900
Aatoet & HAHALXSEAIS 87,380 87,380 0
J| 43,690
Al 21,845
- 21,845
307 CIZ2tOI A 87,380 87,330 0
J| 43,690
Al 21,845
- 21,845
05 AI2tE 2 87,380 87,380 0
TR0 & BAALSAAY
87,380,000& 87,380
J| 43,690
Al 21,845
- 21,845
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A ALSE
M. (| 2
[ I —

o = 2|
Ciel B 2220 RXIB A AR X (crel: g)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
SOIAL=SIIHE THAZAIE XIS 114,468 111,108 3,360
Jl 57,234
Al 28,617
- 28,617
307 212+01& 114,468 111,108 3,360
Il 57,234
Al 28,617
- 28,617
05 git?(& = 114,468 111,108 3,360
1LEAUAISAEE THE0EA X
114,468,000 114,468
Il 57,234
Al 28,617
- 28,617
At == NEAE =24 47,380 46,000 1,380
Jl 23,690
Al 11,845
- 11,845
307 @120l & 47,380 46,000 1,380
Il 23,690
Al 11,845
- 11,845
05 212t =S 47,380 46,000 1,380
1A 2= N2AE 29
47,380,000& 47,380
Il 23,690
Al 11,845
- 11,845
HA=Q OISSFA N3 A 538,540 0 538,540
= 376,980
Al 80,780
- 80,780
308 AHXIEMSOIH 538,540 0 538,540
= 376,980
Al 80,780
T 80,780
18 SIS0t 4 A A A 538,540 0 538,540
1. 822 OSSN NEAS
538,540,000 538,540
= 376,980
Al 80,780
- 80,780
24 & SR0t AL £2 7,923,505 8,592,304 AB68,79
= 2,990,042




=M ABBE
Mu: R HUED U 40 B E
ol 24 2 ER0E 2288 =2 (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
7l 188,414
Al 3,315,259
- 1,459,790
MO =I| A2l At 29,185 16,168 13,017
Jl 14,592
Al 7,29
- 7,297
201 er2 3| 15,405 8,568 6,837
Jl 7,702
Al 3,851
- 3,852
01 At2teltl 15,045 7,980 7,065
(Yer2HI) 15,045
.29 % 2240l S 16,045,000 15,045
Il 7,522
Al 3,761
- 3,762
02 S3=gHl 360 588 N228
(S22= & HAl) 360
1L.23UE M8 30,0002 *1CH* 122 360
2l 180
Al 0
- 0
202 04| 12,780 6,600 6,180
Jl 6,390
Al 3,195
- 3,1%
01 2L AL 12,780 6,600 6,180
LAIZEEERZIIH =& 0
200,000 «3H 122 7,200
Il 3,600
Al 1,800
- 1,800
2. 22|04l 93,0003 »3& x20 5,580
Il 2,790
Al 1,395
- 1,3%
307 @120l & 1,000 1,000 0
Il 500
Al 250
- 250
01 2g & 2=Hl 1,000 1,000 0
1.9842F 1,000,000 1,000
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=M ABBE
Mu: R HUED U 40 B E
ol 24 2 ER0E 2288 =2 (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Jl 500
Al 250
- 250
S=0F & J2AAME X2 3,990 5,880 1,890
7l 3,192
Al 399
- 399
307 @12t0| & 3,990 5,880 1,890
Il 3,192
Al 399
- 399
012z & 2=Hl 3,990 5,880 1,890
1.2e J2ZA XE 3,990,000 3,990
Jl 3,192
Al 399
- 399
AP Ao A Z 2| ALRT AL 1,302,000 1,400,000 98,000
Al 1,106,700
- 195,300
308 AtXIEMSOIE 1,302,000 1,400,000 /98,000
Al 1,106,700
- 195,300
13 SI[2S0He 4 A AS A 1,302,000 1,400,000 88,000
1A A MOtA 2 22| ALK Z AFS
1,302,000,000& 1,302,000
Al 1,106,700
- 195,300
g AR2AA2C|AF THAA 200,000 233,980 /33,980
Al 200,000
301 LEIE NS 200,000 233,980 /33,980
Al 200,000
02 NRI2HHSFS(HAAS, NLHE) 200,000 233,980 133,980
LUFE MZAZ AL THAALSE
200,000,000 200,000
Al 200,000
Sdot Rty o)1= 3,503,000 4,312,000 809,000
= 2,619,242
Al 441,879
- 441,879
308 AXIHSOIA 3,503,000 4,312,000 /809,000
= 2,619,242
Al 441,879
T 441,879




- © ©
o g B g 2 B|8|8 3|3 5 5 S
il I o = o - - = -
A % v % % g %
) _Am_ <
D
S] 2 3 8 833 8|3 2 L S]
[aN] (&N} [aN} [(o}} BYol B¥e] [e0] @ 0]
war |2 R & R
- ~
Tl
RIS
S S8 IRRISESISE3II8 883283 8888 B S8 I[IsSs38383I88383|8 8
S 9 N® RS = RS T RS S = eonn N F oK 0 9 »wdid dId 9D RN R DIG ©
(e8] N O = Q Q V|M~N|O O < AN - bl — | — M~ MO = — N MO — — O O
g 8o3sBx8|83 gBEaY
Wﬁ ™ [sp I aN]
<
S
m=<rm| =<m| =< < Nt O RX0
o o W ® o o o
8 S 8 8 8 ? ¢ S 8
g 8 S s S AR ¢ 2 =
o |2 : SEE 5 & | & :
2| ¢ i B YT 8§ - ©
; o =
— D0 =
2 |5 R em 5 E
- - <
I 0 = 70 W | ~

<0 X | = = o [t

Ol T o o o0 y & WK iy

Rio | = |9 0o x ok D e - W ~ ok

CINLU I 0 B o Y. ] M_ no iy o

@l F |T 3 &+ R _ oHow _ & W o8| W

K™ W | no Rr M0 SIS RIS D S (MR I |= o

=S . U0 0 Rl K0 70 Bl gp 1 OF D ogr KW RID RS il -

WOl = |® 2 = i H A ol KO T TN b T (R = I
RRCEC B I o 1) o < (20 g Al H S W S 3 R o,  ®
LI B L e} ol < W Rlo|< g5 = & & g = & |oU|& of |- ol or ¥
sl = [~ i = 8 Hizl|s = = Sl= — B S 5 -
noar x| X <l < K| o L o
ARo D il ™ £
< E o

R0 01




A
B2 |
ol 2

= e (£ & E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
7l 3,300
Al 1,650
- 1,650
05 2ItRIE= 600 876 N276
1.8R0t & 22| AS At
600,000 600
Il 300
Al 150
- 150
a2 JAELOIZH| KF 2,400 2,400 0
Il 1,200
Al 600
- 600
308 XXM SOIE 2,400 2,400 0
7l 1,200
Al 600
- 600
18 SIS0t AS A 2,400 2,400 0
LEAEMED YUSL O ZHIXIE
2,400,000& 2,400
Jl 1,200
Al 600
- 600
LA SLF 2| gHIXE 108,000 124,000 16,000
Jl 54,000
Al 27,000
- 27,000
307 gl2to| & 108,000 124,000 16,000
Jl 54,000
Al 27,000
- 27,000
0192 & 3=H| 108,000 124,000 216,000
1. OASSAMR S|gHl KA
108,000,000 108,000
) 54,000
Al 27,000
- 27,000
M7 & ZMES A2 741,600 651,240 90,360
= 370,800
Al 185,400
T 185,400
308 XXM SOIA 741,600 651,240 90,360
= 370,800
Al 185,400
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=M ABBE
Mu: R HUED U 40 B E
ol 24 2 ER0E 2288 =2 (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
HEFEXIEA 1,025,560 768,000 257,560
Al 769,170
- 256,390
307 el2to| & 1,025,560 768,000 257,560
Al 769,170
- 256,390
0oz & 1,025,560 768,000 257,560
HEFEX 1,025,560,000& 1,025,560
Al 769,170
- 256,390
CtS0l XtefelE 43,600 30,000 13,600
201 el 43,600 30,000 13,600
01 At2telt] 43,600 30,000 13,600
.29 & 1,000,000& 1,000
2. %t &Rt 42,600,000& 42,600
2l At A2 148,800 0 148,800
Il 74,400
Al 37,200
- 37,200
307 elztol & 148,800 0 148,800
) 74,400
Al 37,200
T 37,200
012z & 148,800 0 148,800
1,284 At A
148,800,000 148,800
Jl 74,400
Al 37,200
- 37,200
29H|(H2sa ) 2,390,663 2,454,649 63,986
[ 187,183
Jl 867,212
Al 331,099
- 1,005,169
el 2| 2,304,129 2,350,065 N45,936
= 187,183
Il 867,212
Al 331,099
- 918,635
el 2dd| 631,872 611,892 19,980
101 @124H| 624,363 604,435 19,928
01 &2 388,911 371,929 16,982
TAIZERIZ2 85,480
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=M AUB
S HY2IAH|(AHLSE
chol: ol (19 @)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
t.62 12,8442 #4H«34A 2H+ 12 20,962
Lt.72 11,6022 x3H«34A 2t 12F 14,201
Ct.8= 10,4163 *9H*34A| 2t 123 38,248
ct.o9= 9,860 x3H*«34A| 2t 123 12,069
(LEADIN s2aE) 240,458
1. 87,943,000 & «2% 175,886
2. I &l 175,886, 0002 2% 3,518
3oEYR4+Y 1,212,002 22+ 122 29,088
4. NRISIRR4E
15, 059 x2H+34A| 2t 123 12,289
5.0t5+Y 110,000& «12& 1,320
6. ZAZAlH| 140,000 2H 122 3,360
7. 8282l 400,000 x2Z = 12& 9,600
8.0ieI&t =] 50,000& x2Z »12& 1,200
9. 1254 239,779,000& *1.75% 4,197
(2BtAIIN 924 ) 62,973
1.8 52,184,000& 1 52,184
2. 44 H| 52,184,000 *2% 1,044
3.AIRteI 204
9,860 *1G+34AI 2t 12 4,023
4.0t 20,0002 128 240
5. Z oz AlH| 140,000 x1F + 122 1,680
6. 222 XH| 175,000 1F + 122 2,100
7.0H21& =S| 50,0003 *1H* 123 600
8.185H 62,915,000& *1.75% 1,102
02 JIEt& 2 164,993 164,79% 197
(AZHEEH I OIHl OF2) 164,993
1.9938 29,612,000 +4H 118,448
2. - IHAH| 118,448,000 *2% 2,369
3.AIZII2R4Y
9,860& x4 «34A 2t 12 16,092
4.0t 40,0003+ 12& 480
5. Z Mz AlH| 140,0003 4G+ 12 6,720
6. 822Xl 7,128
Jb.30AIZHH 22Xt
132,000 x1H +12& 1,584
Lt.3BAIZHH 22Kt
154,000 3B+ 122 5,544
7.01212 =S| 2,025
Jb.30AIZEH 22Xt
37,5003 x 1Y« 128 450
Lt.35AI2EH 22 At
43,7503 «3Z =128 1,575
8.ExERY 123,000& x4F 122 5,904
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SN AUSTY
S HY2IAH|(AHLSE
chol: ol (ool )
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
9. 1254 161,535,000 *1.75% 2,827
10.E1 &= 3,000,000 *1H 3,000
03 SRH(RINHS) 22X 24 70,459 67,710 2,749
(sto|xizal) 70,459
1.8 46,348
t.3s= 1,888,600& x 19+ 12 22,664
Lt.8S = 1,973,600& * 18 =128 23,684
2. Z oAl 140,000 x2H 122 3,360
3. WSE2XH| 120,000&2F + 122 2,880
4. SRR 30,0002 %2 * 128 720
5.AI12te|224Y 2,246
3= 12,2323 x60 Al 2+ 150% 1,101
Lt.8S S 12, 7202 x60 Al 2t*150% 1,145
6. HAXt=S 999
t.3s= 97,8563 x1H x5 490
Lt.8S = 101, 7603 *1H +5 509
7.803 9,270
t3s = 1,888,600 *240% 4,533
Lt.8S= 1,973,600 *240% 4,737
8. & SOtI 4,636
t.3s= 1,888,600 *120% 2,267
Lt.8S S 1,973,600 *120% 2,369
4 HAFRESS 7,509 7,457 52
M R (RIAN) 22X BEHa28H=3 S 7,509 7,457 52
1.3200H0=22€32 68,000,000 *4.5% 3,060
2.20AUBEZ 68,000,000 *3.545% 2,411
. BINRUYBER 2,410,6002 *12.95% 313
4. 12882Y2 68,000,000 *1.75% 1,190
5. 04ATHHEE = 68,000,000 *0.786% 535
OIHASAH|(KIH A SEHLSEAI) 205,049 274,590 269,541
| 102,525
Al 51,262
- 51,262
101 21244l 156,313 207,580 A51,267
| 78,157
Al 39,078
- 39,078
03 SRH(RINHS) 22X 2> 156,313 207,580 A51,267
1.3= 102,154
D) k=3== 1,905,600 1G4 7,623
| 3,811
Al 1,906
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SN AUSTY
S HY2IAH|(AHLSE
SERRIEESS(T CERL
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
- 1,906
Lt.65S 1,939,600& x2Z 128 46,551
| 23,276
Al 11,638
- 11,637
Ct.oss 1,990,600& x1Z 123 23,888
| 11,944
Al 5,972
- 5,972
et 108 = 2,007,600 x1F+ 122 24,002
| 12,046
Al 6,023
- 6,023
2. Z oAl 7,280,000& 7,280
| 3,640
Al 1,820
- 1,820
3. uEExH| 6,240,000 6,240
| 3,120
Al 1,560
- 1,560
4 A2H2l = 4,942
DI k=3== 12,3292 x20A| 2+ % 150%+ 1Y 370
| 185
Al a3
- R
Lt.65 S 12,5252 *60 A| 2+ 150%+2H 2,256
| 1,128
Al 563
- 564
Ct.os=s 12,8173 60 A| 2+ +150%+ 1Y 1,154
| 577
Al 288
- 289
.10 = 12,9152 x60A| 2+ +150%+ 1Y 1,163
| 581
Al 291
- 291
5.0 X142t 2,52
h4sE 98,6323 x1H x5 494
| 247
Al 123
2 124
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SN AUSTY
S HY2IAH|(AHLSE
oel: el 2dH| (e
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
Lt.6E= 100,200 x2S x5 1,002
| 501
Al 251
- 250
Ct.os= 102,536 3 #1552 513
J| 257
Al 128
- 128
ct. 1088 103,320 * 1«5 517
| 258
Al 129
- 130
6.8403 20,052
4SS 1,905,600 * 1 *60% 1,144
J| 572
Al 286
- 286
Lt.6E= 1,939,600 2 +240% 9,311
| 4,655
Al 2,328
- 2,328
Ct.os= 1,990,600 * 1 +240% 4,778
| 2,389
Al 1,194
- 1,19
ct. 1083 2,007,600 * 1 +240% 4,819
| 2,410
Al 1,205
- 1,204
7. BE SO 10,599
DIRA=2= 1,905,600 * 1 *60% 1,144
J| 572
Al 286
- 286
Lt.6S= 1,939,600 2% 120% 4,6%
J| 2,328
Al 1,164
- 1,164
Ct.os= 1,990,600 * 1 *120% 2,389
| 1,19
Al 597
- 597
2t 10& S 2,007,600 *1H *120% 2,410
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=M AUB
M HZYRAZH(AZSI 1)
el i Eg| (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
7l 1,205
Al 603
- 602
8. XA 1,560,000 1,560
2l 780
Al 390
- 390
9. u=H| 240,000 x4 960
7l 480
Al 240
- 240
201 et=3| 400 600 A200
Jl 200
Al 100
- 100
01 AtR2te|HI 400 600 A200
1.SF3 LI=H| 100,000 x4 400
Il 200
Al 100
- 100
202 04| 12,800 22,800 10,000
Il 6,400
Al 3,200
- 3,200
01 =LHOHI 12,800 22,800 10,000
1.32% £84l 250,000 «4H = 12& 12,000
) 6,000
Al 3,000
- 3,000
2. 322 2204l 200,0002 x4 800
Jl 400
Al 200
- 200
M HA=FE=SS 35,536 43,610 N\8,074
) 17,768
Al 8,884
T 8,884
04 BRA(RIHA)22N BEESRES S 35,536 43,610 A\8,074
1.0=2E= 6,930,000& 6,930
Jl 3,465
Al 1,733
- 1,732
2.=0ALEES 6,159,000 6,159
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SN AYBTD
M HERHHH|(HZSED)
ool olzegy| =)
SA - BB ORI(SIH) - HIRAY - BAS o 2
| 3,079
Al 1,540
- 1,540
. NEEEREZ 2,695,000& 2,695
| 1,348
Al 673
- 674
4B EE = 1,211,000& 1,211
| 605
Al 303
- 303
58183 €3 3,090, 1503 +6H 18,541
| 9,271
Al 4,635
- 4,635
IA2YGH (=2 AR MBIA) 225,806 219,824 5,982
| 106,903
Al 53,451
- 65,452
101 @l24H| 182,206 174,824 7,382
| 91,103
Al 45,551
- 45,552
03 SR (RIHY) 22X E> 182,206 174,824 7,382
1.8+ 119,438
.3z = 1,888,600&x 1+ 12& 22,664
| 11,332
Al 5,666
- 5,666
Lt.8s= 1,973,600 =2+ 12& 47,367
| 23,684
Al 11,841
- 11,842
Ct. 1333 2,058,600 2+ 12& 49,407
| 24,704
Al 12,352
- 12,351
2. 8 AZAlH| 140,000 x5 » 123 8,400
| 4,200
Al 2,100
- 2,100
3. S22l 120,000 x5« 122 7,200
| 3,600




SA: AVBHD
M HAPAZH|(ALSED)
el QIEE2E
RN - I BRA(E) - HRA - BES of v A
Al 1,800
T 1,800
4. A= 30,0002 x5~ 122 1,800
Il 900
Al 450
- 450
5.AI12te22+E 5,769
Jt3=es 12,2323 60 AI 2++1E*150% 1,101
Il 550
Al 275
T 276
Lt.82= 12, 7203 60 Al 2H2Z 150% 2,290
Il 1,145
Al 573
7 572
Ct. 1323 13,2083 *60AI 2H+2Z 150% 2,378
Il 1,189
Al 5%
T 54
6. A== 2,565
Jt3ss 97,9203 1 +5 40
Jl 245
Al 122
- 123
Lt.8s = 101,760 2 +5& 1,018
Jl 509
Al 255
- 254
Ct.1323 105,680 2 +5& 1,057
Il 528
Al 264
- 265
7.80l= 23,889
t3== 1,888,600 + 1 +240% 4,533
Il 2,266
Al 1,134
- 1,133
Lt.8s= 1,973,600 x2E +240% 9,474
Il 4,737
Al 2,368
- 2,369
Ch. 1322 2,058,600 x2E +240% 9,882
Jl 4,941




SN AUSTY
S HY2IAH|(AHLSE
ool olzet (crel =2l
A - B G(3H) - NRAY - HES ol b e HlmS2
Al 2,470
- 2,471
8. & SOtI 11,945
t.3z= 1,888,600 * 1 +120% 2,267
| 1,133
Al 567
- 567
Lt.8s= 1,973,600 <2 *120% 4,737
| 2,369
Al 1,184
- 1,184
Ct. 1333 2,058,600 2 *120% 4,941
J| 2,471
Al 1,235
- 1,235
9. W=H| 240,000 x5H 1,200
J| 600
Al 300
- 300
201 2| 500 500 0
J| 250
Al 125
- 125
01 Ar2eltl 500 500 0
1.22& 1=l 100,000 x5 500
| 250
Al 125
- 125
202 Ot 3,300 4,700 21,400
| 1,650
Al 825
- 825
01 =W OdbI 3,300 4,700 21,400
1.3 &l 50,0003 x5 123 3,000
| 1,500
Al 750
- 750
2. 325 2EZFH| 150,000& *2H 300
J| 150
Al 75
- 75
34 HAFRESS 39,800 39,800 0
| 13,900
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=M AUB
M HZYRAZH(AZSI 1)
el i Eg| (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 6,950
T 18,950
04 R (RIHA)22N BEESRES S 39,800 39,800 0
1.0937dg= 125,0002 6%~ 123 7,500
Jl 3,750
Al 1,875
- 1,875
2.=0AEES 125,000 x5~ 122 7,500
Jl 3,750
Al 1,875
- 1,875
3. UE2ERES 50,0002 x68 122 3,000
Il 1,500
Al 750
- 750
4 LA HESE = 30,000 x5& * 122 1,800
Il 900
Al 450
- 450
5.81&l=2 &€= 4,000,000 +5H 20,000
Il 4,000
Al 2,000
- 14,000
A2 (Y222l Al 378,366 368,675 9,691
= 187,183
Al 93,591
- 97,592
101 ©1AH| 291,251 279,469 1,782
= 145,626
Al 72,812
- 72,813
03 SRA(RIH )22 E 4 291,251 279,469 1,782
.32 190,89
H3ss 1,888,600 x1H~12& 22,664
= 11,332
Al 5,666
- 5,666
LI.52 S 1,922,600 x1E 128 23,072
= 11,536
Al 5,768
- 5,768
CH. 108 2,007,600 «3E«12& 72,274
= 36,138




o0 ry
J¥0x oY

™
=J

=
~

Salt
29ZHI(HZ
apestul

iI

x

CFB GBI - MRAY - BES

H
ol &y

w
ol
Ol

ol

4. 324

M =
wW
ol
o 4>

»
re
bS]
P

=
wW
fol
O o0

2,024,600 «3F « 122

140,000&x8Z«12&

120,000&x8Z«12&

30,0008~ 128

12,2323 x150%60 Al 2+ 1L

12,4273 x150%60 Al 2+ 1

12,9153 x150%<60 A 2++3&

13,0133 150%<60 Al 2++3

97,8563 1 +5

99,4163 1 +5

Al

=]

Al

=]

Al

&)

Al

&)

Al

"

Al

=]

Al

=]

Al

=]

Al

&Y

Al

&Y

18,068
18,068
72,886
36,442
18,222
18,222
13,440
6,720
3,360
3,360
11,520
5,760
2,880
2,880
2,880
1,440
720
720
9,222
1,101
550
276
275
1,119
559
280
280
3,488
1,744
872
872
3,514
1,758
878
878
4,100
490
246
122
122
498
248
125
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SH: HAEAD
M HAPAZH|(ALSED)
el QIEE2E
S - - BRI(E) - MRANY - BES of v A
- 125
Ct.102= 103,320 x3&+5& 1,550
[ 775
Al 387
- 388
ct.11E=3 104,104 +3E+5L 1,562
[ 781
Al 391
- 390
7.840ls 38,181
t.3s= 1,888,600 * 1 x240% 4,533
s 2,266
Al 1,134
T 1,133
Lt.5= =2 1,922,600 13 +240% 4,615
= 2,308
Al 1,153
T 1,14
Ct.102= 2,007,600 *3E +240% 14,455
= 7,227
Al 3,614
T 3,614
ct. 1123 2,024,600 *3E +240% 14,578
= 7,289
Al 3,644
- 3,645
8. 8& =l 19,092
t.3s= 1,888,600 * 1H *120% 2,267
= 1,134
Al 566
T 567
Lt.55= 1,922,600 *1E *120% 2,308
= 1,154
Al 577
T 577
Ct.10s= 2,007,600 *3H *120% 7,228
= 3,614
Al 1,807
T 1,807
ch.11s=S 2,024,600 *3E *120% 7,289
= 3,645
Al 1,822
T 1,822
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SM: ALEXY
S HY2IAH|(AHLSE
Chel: ol CERE)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
9.22% w=sH| 240,000 +8H 1,920
= 960
Al 480
- 480
201 L2 AH| 800 800 0
= 400
Al 200
- 200
01 At 22|l 800 800 0
1.322 I=H| 100,000 »8H 800
iy 400
Al 200
- 200
202 0441 29,400 30,400 21,000
oy 14,700
Al 7,350
- 7,350
01 =ZLHOdHI 29,400 30,400 21,000
1.&&H| 300,000 x8F *12& 28,800
= 14,400
Al 7,200
- 7,200
2. 22/0H| 150,000 *4H 600
= 300
Al 150
- 150
M HAIRE3S 56,915 58,006 A1,091
= 26,457
Al 13,229
- 17,229
M SRHE(PIHS) 22X B82882 S 56,915 58,006 A1,091
1.0=2€3 134,500 8H 122 12,912
= 6,456
Al 3,228
- 3,228
2.2301HUEE= 119,530 x8H 122 11,475
= 5,737
Al 2,869
- 2,869
3. NEEERES 52,3002 =8+ 12& 5,021
s 2,51
Al 1,255
- 1,255
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=M AUB
M HAPAZH|(ALSED)
s lIEE2ghl EER=E)
RA - BE - SHAEH) - HRA - BAS ofl &t e DS
4 AHAHEE = 23,5002 8~ 122 2,25
= 1,128
Al 564
- 564
58183 &€= 3,156,300 x8H 25,251
= 10,625
Al 5,313
- 9,313
QI 2HH|(XIOHRtAMIE M201=) 754,221 773,452 19,231
J| 603,376
Al 105,591
- 45,254
101 e124d| 681,351 697,264 A15,913
Il 545,080
Al 95,389
- 40,882
02 JIet& 2= 366,735 389,756 A33,021
(AIZHAERRIDIH OHS) 366,735
.98 26,779,380 10 267,794
J| 214,235
Al 37,491
- 16,068
2. XA 267,793,800 *4% 10,712
Il 8,570
Al 1,500
- 642
3. ZHUSAI 140,000 x10&~12& 16,800
Il 13,440
Al 2,352
- 1,008
415 200,000 * 122 2,400
Il 1,920
Al 336
- 144
5. 852 &H| 153, 1202 x10& 128 18,375
Il 14,700
Al 2,572
- 1,103
6. AI2t2| =S
9,860& *15A12tx10E « 12 17,748
Il 14,198
Al 2,485
- 1,065
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=M AUB
M HZYRAZH(AZSI 1)
el i Eg| (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
7.H21ESh] 43,7503 x10E «12E 5,250
Jl 4,200
Al 735
- 315
8.S+=MRg 96,0002 x10E «12& 11,520
Jl 9,216
Al 1,613
- 691
9.1E28 350,598,000 *1.75% 6,136
Il 4,909
Al 858
- 369
03 SR (RINHA) 222+ 324,616 307,508 17,108
1.2 221,421
tess 2,543,000 193 22,887
Jl 18,310
Al 3,204
- 1,373
Lh.72S 2,660,000 «1H*12& 31,920
Jl 25,536
Al 4,469
- 1,915
Ct.8== 2,777,000 5123 166,620
Jl 133,296
Al 23,327
- 9,997
2.40= 44,286
623 2,543,000 * 12 %180f% 4,578
Jl 3,662
Al 641
T 275
L7223 2,660,000 12 %240f% 6,384
Jl 5,107
Al 8%4
T 383
Ct.8== 2,777,000 x5 2 x240f% 33,324
) 26,659
Al 4,665
T 2,000
3. &=l 21,380
tess 2,543,000 « 12 +60f% 1,526
Il 1,220
Al 214
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SM: ALEXY
M HAPAZH|(ALSED)
ool ol (cr9l: &g
RA - BE - SHAEH) - HRA - BAS ofl &t e DS
- R
Lh.7e3 2,660,000 *1H *120% 3,192
Il 2,554
Al 447
- 191
Ct.8s= 2,777,000 +5E *120% 16,662
Il 13,330
Al 2,332
- 1,000
4 AZ2R2RH 10,650
he=s 15,8453 x150%+60 Al 2+ 1 1,427
Il 1,141
Al 200
- 86
L7232 16,5173 x150%*60 Al 2+ 1 1,487
Il 1,190
Al 208
- 89
Ch.8== 17,1893 »150%+60 Al 2+ +5&H 7,73%
Il 6,189
Al 1,083
- 464
5. 1T 4,733
he=23 15,8453 BAI2E+5 2 x1H 634
2l 508
Al 88
- 3B
Lt.72= 16,5173 +BAI2E+5 2 x1H 661
J| 528
Al 3
- 40
Ct.es= 17,189 BA| 2F+5 2 x6H 3,438
Il 2,750
Al 482
- 206
6. ZAUZ AL 140,0002 7 * 128 11,760
bl 9,408
Al 1,646
- 706
7. WS 2 H| 120,000& 7= 123 10,080
Il 8,064
Al 1,412
- 604
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SM: ALEXY
S HY2IAH|(AHLSE
chol: ol (19 @)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
8. W =H| 100,000 *3H 300
| 240
Al 42
- 18
201 L2 AH| 700 700 0
| 560
Al o]
- 42
01 At 22|l 700 700 0
1.322 I=H| 100,000 7 E 13l 700
J| 560
Al o]
- 42
202 0441 5,250 9,800 24,550
| 4,200
Al 735
- 315
01 =ZLHOdHI 5,250 9,800 A4,550
1.3%% £&H| 50,0003 *7Z* 123 4,200
| 3,360
Al 588
- 252
2. 52& 22| 150,000 *7H 1,050
| 840
Al 147
- 63
M HAIRE3S 66,920 65,688 1,232
| 53,536
Al 9,369
- 4,015
M SRHE(PIHS) 22X B82882 S 66,920 65,688 1,232
1.0=2€3 160,000 7H + 122 13,440
| 10,752
Al 1,882
- 806
2.=2RIAUBER 150,000 *7H + 122 12,600
J| 10,080
Al 1,764
- 756
3. NEEERES 65,0003 x7H* 128 5,460
J| 4,368
Al 764
- 328
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=M AUB
M HZYRAZH(AZSI 1)
chol: ol (19 @)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
4 AHAHEE = 30,0002 x7& 123 2,520
Jl 2,016
Al 353
- 151
58183 &€= 4,700,000& +7H 32,900
Jl 26,320
Al 4,606
- 1,974
QIARAH| (M= (AL 22| ALe) 108,815 101,632 7,183
Il 54,408
Al 27,204
- 27,203
101 e124d| 108,815 101,632 7,183
7l 54,408
Al 27,204
- 27,203
02 JIEtAE = 108,815 101,632 7,183
(AIRIEEHHADIM OF2) 108,815
.98 27,005,940 3 81,288
Jl 40,644
Al 20,322
- 20,322
2. XA 81,288,000 4% 3,252
7l 1,626
Al 813
- 813
3. 3N ZAHI 140,000& x32* 123 5,040
Jl 2,520
Al 1,260
- 1,260
415 40,0003 3+ 123 1,440
2l 720
Al 360
- 360
5. g2 x| 153, 120332~ 123 5,513
7l 2,756
Al 1,379
- 1,378
6. A2t 2R +E
9,860 x3&*15AI2Hx 123 5,325
7l 2,663
Al 1,331
- 1,331
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od
i’
oF
uJ

m)
=R
<J 80 80
KIO OH 0K
~0 &0 ®r
A %0 ol
<&

IF RO

=

-

KIO

Hlw

A 18,050
A 18,050
2,492
2,39

100

MEE
Ofl &k2h

104,584
104,584
32,622
30,452

2,170

Ofl &F2H

788
393
3%
3,510
878
877
1,872
936
468
468
86,534
86,534

35,114
400

1,575
1,755
7,960
3,680
1,080
3,200
1,600
1,200

750

650

32,844

Il
Al
Il
Al
J|
Al

100
14,904
630

14,904

7,630

7,000
2,270

1,910

645

1,265

- SRA(E) - HIRAY

- HyS

S - B

=l

[uind

2 *23H+80%

43,7503 +38+ 123
97,5002 x3& ~ 122
30,000 »3CH =122
200,000 *4LH*4.
40,000& 10
40,0003 30

106,941,000 *1.75%

200,000

01 AtR2telbl

0f

ok

o

ok

3

50,0003 »13H
50,000& +2&

70,0003 x9H +1

9,000& x23H 641+ 12
g

JI2=AllI

A
e

3

3

100,000 x5+ 14

[0

no

gl
Ok

4302+1,500=

-

oll

=2

19,920
19,920

66,360
60,960

360
41,040

33,120

2,530 +500=
30,0002« 122

20,0002 * 10 23 12= +60%

Jl=2 04l

01 ZLHA LI

202 044l




=M AUB
M HAPAZH|(ALSED)
&l D122 (CH9): &S
RA B - SRA(E) - MIRAR - B ol &4 e HIDEY
2.HURE Al 0I2R=
100,000 « 122 1,200
3 AIZIE RS IIH SR O]
0,0003 202 x2H 122 4,800
4. ZRA (ST A ) S A
20,0003 *43|«2H+ 123 1,920
02 A0 5,400 5,400 0
1.3 XEes A0
225,000 «2F 122 5,400
203 =8| 3,780 3,780
04 FAESEYERFAH 3,780 3,780
1.2ASS 24
350, 000& * 122 +90% 3,780
204 MRt A 1,200 1,200
01 MR 1,200 1,200
128G PR=AH| 100,000& « 122 1,200
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2A:

X AZOIN R
o9l MAE MEISH U OIFEH B2 RIB (crol: m2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
301 EtE NS 5,200 5,200 0
= 2,600
- 2,600
14 DBt 2 a=S 5,200 5,200 0
TAILIOT ZAIE 23] 5,200,000& 5,200
= 2,600
- 2,600
OelollIZAE dEaeld 29 13,200 13,200 0
= 6.600
- 6,600
301 LELEE S 13,200 13,200 0
= 6,600
T 6,600
14 IIEt2 83 13,200 13,200 0
1.0{el0] VIS dg2e/d g3t
50,0003 * 112 *242] 13,200
= 6,600
- 6,600
AHIAASAZAE 2 5,000 5,000
301 EtE NS 5,000 5,000
14 J|Et2a s 5,000 5,000
LAHINASAY LA 2
50,0002 x202 +53] 5,000
AN gal2e N3N 2 1,068,000 940,000 128,000
= 534,000
Al 267,000
- 267,000
307 lztol & 1,068,000 940,000 128,000
= 534,000
Al 267,000
- 267,000
05 git?(& = 1,068,000 940,000 128,000
1.01210] - At3IsXISA2C X2 HE X2
g 1,068,000,000& 1,068,000
= 534,000
Al 267,000
- 267,000
OlEl0l HE2iel eta&e| st 2,600 2,600
201 2= 2,600 2,600
01 At2t2lt] 2,600 2,600
1.O{EI0IAZIEES Y W, E2H|
10,5003 20004 2 2,100
2.0{el0laa 2l N2HH HAS A8 AA
A HA==E 100,000 5% 500
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LA AM
Hu: AZohE 2
o9l MAE MEISH U OIFEH B2 RIB (crol: m2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
SAE SFMEMY 40,000 40,000
402 QI”F X201 & 40,000 40,000
01 QI X2 AL E A (KEMITHR) 40,000 40,000
1.S48 AlEoidsl XA
2,000,000 *200H 2 40,000
SAME AHIED JIgkEd XRAMSE 16,000 10,000 6,000
= 8,000
Al 4,000
- 4,000
307 el2to| & 16,000 10,000 6,000
= 8,000
Al 4,000
T 4,000
02 2B YA HE L 16,000 10,000 6,000
1 2aATHE AHIS JIPES X2
16,000,000 *10H 2 16,000
= 8,000
Al 4,000
T 4,000
A Edst X2 20,000 38,000 A18,000
201 Ler=23 | 20,000 20,000 0
01 AtR2te|Hl 20,000 20,000 0
1.9Hel==s K& 10,000,000 10,000
2.2A43gAEE K& 10,000,000& 10,000
SSAUZ A 2 12,800 11,800 1,000
201 2= 2,000 1,000 1,000
01 AlR221H| 2,000 1,000 1,000
1IN QAL SMEND HE
200,000& *109H 2 2,000
301 EtE N = 10,800 10,800
14 DBt 2 a=S 10,800 10,800
1.3220 =58 ot==2 N3
100,000 *90H A+ 128 10,800
JI2Eg 3 12,000 12,000 0
204 MR AH| 12,000 12,000
2 SELREH 12,000 12,000
1.2 2SH] 50,0003 x20& «12& 12,000
HY2HZH|(F D) 265,392 281,707 16,315
elIE =g 185,442 201,589 A16,147
olE =gl 185,442 201,589 A16,147
101 212A4H| 176,503 192,844 216,341
01 2= 95,959 113,992 18,033
(= =¢) 95,959




S M
M HH2HHHI(2IM
cel: olzt=2ay) (crol: M el)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
1.A12t2 2R 88,997
Jt.6= 12,8442 x3H+34A1 2+ 128 15,722
Lt.7= 11,6022 *4H«34A| 2Hx12F 18,935
Ct.8= 10, 4163 x99 «34A | 2t 123 38,248
2192 9,880 *4 34 A| 2Hx 122 16,002
2.9MA U SEBRALL NTHE Al2H
A= 11,6022 x5 10Al 2t 123 6,962
03 SRH(RINHS) 22X 2 80,544 78,852 1,692
(SE/ME) 80,544
.32 49,204
t.9s= 1,990,600&x1H*12& 23,888
Lt. 165 = 2,109,6002 18+ 12& 25,316
LA A 140,000 x2ZH 123 3,360
WS 2| 120,000& 2F + 128 2,880
4. A2e|=Y 4,687
t9s=E 12,6742 x150%+ 10A| 2+ 122 2,282
Lt. 165 = 13,357 & *150%* 10A| 2+ 12& 2,405
5. HAXt==E 4,070
t.9s= 12,6743 +8A1 2+ 15 %18 1,826
Lt. 165 S 13,3673 *8A| 2H 1 #21 2,244
6. GE SOt 4,921
t9s= 1,990, 600& *120% 2,389
Lt. 165 = 2,109, 600& *120% 2,532
7.403 9,842
t9s=E 1,990, 6003 *240% 4,778
Lt. 165 = 2,109,6002 *240% 5,064
8. Ml 78,964,000 *2% 1,580
4 HAFRESS 8,939 8,745 194
M R (RIAN) 22X BEHa28H=3 S 8,939 8,745 194
1A RIRY B2 8,939
ot =30HgEE= 80,544,000 *4.5% 3,625
L. 2eHLEE=
80,544,000 *3.545% 2,856
CHEQIRIIRYEER
2,856,000& *12.95% 370
et NESEZ 80,544,000 *1.75% 1,410
O A THHEE =
80,544,000 *0.841% 678
JlE2&| 79,950 80,118 AN 168
J1E23H| 79,950 80,118 AN 168
201 LEr2 | 32,430 29,718 2,712
01 At 22|l 20,386 17,674 2,712
(Let=2H|) 5,578




LA AM
Ha: MESHAH| (M)
Chel: J1=2 &l EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
1. 2N 28+ 200,0003 x21H 80% 3,360
A2 E] 30,0002 *1CH* 12 360
3. 84HEH 23 2l € A2E 7Y 1,858
LA EH S 150,000 *32] 450
L Z2IED| EW S
176,000& 82 1,408
(24ll) 13,608
1 SIMAD XX J|=2 A
9,000 x21H+6A* 122 13,608
(P22 8Al 018) 1,200
1.2 Al 018 23
100,000& * 12 1,200
02 S3=gHl 12,044 12,044 0
(322= & HMAl) 7,989
1.28e=s 5,869
b gereH 4303+6,000S 2,580
Lt. S 2,530&+1,3008 3,289
2. NS XA 100,000 1CH 100
JASKHEE= 700,000 *1CH 700
43tEx2 110,000« 12& 1,320
(Xreeyl) 4,085
1L.2dXE8anE =7 & 223
4,000,000 *1CH 4,000
2. AMRISHATIZ HAH
55,0002 *1CH 55
202 04| 42,540 45,420 2,880
01 SLHoIH 18,240 21,120 N2,880
1LedEeFa JI=04|
20,0003 x 12 +102L %123 +60% 17,280
2.3FH U0l
20,00021%2% %22 122 90
02 22401t 24,300 24,300 0
1ML EHE0HH)
225,000 ~9F 122 24,300
203 HR=H] 3,780 3,780
M EA2ER=A 3,780 3,780
1L.2A2EE R4
350,000 * 122 *90% 3,780
204 AR A 1,200 1,200
01 MM SR A| 1,200 1,200
LAMSHRFAY
100,0002 x1&* 122 1,200




H & Ol & AF S E Al A
22
BAYSNHIA B

-

ST

H AH D

I
S

=

al

F

b=
(=}

s
2
[=]

[
Al
=

X
2

O
=
=
o X
- T

=
X

2025
ISH
2

=
-

of
i’
oF
uJ

)
=]

o)

KJ OF

=)
&2

&) ol Wl

|

Al
(=}

i

s,

=aak

-

KIO

Hlw

36,895

24,406

24,406
5,510

4,980
2,780

MEE
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30,880
23,320
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753,075
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4,945
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Il
Al
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75,940
35,860
26,100
11,800
200
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6,940
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- SRA(E) - HIRAY

- ESS

S - B

50

ok

KJ
Klo
~0
AJ

ol
K-
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2

50,0003 *4H
12,0002 120
50,000 +67|

1,600,000& %1

10,0003 x25& %6 |

SNHIA HE

1LA2301&8 3t

01 AtR22telbl

30
0B

a0

Hl

ch.HIEALS

2,200

7,560

200
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14,300
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3,200
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3,060,000}
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250,000 +67|
100,000& *36
100,000 *60.
3,000,000 %14

3,500&+1,000H
200,000 *16
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4. 2212 Ml
ch.HISHARE 2ZPAL

1.2AZIINHM =X

2. ZAHE IS X

(AIEZHI=XIH])




SN ASLATL
ZB: NAFLI AVST U AU
SIS AUYMBAMS 9I5t ZBHAGABHLIA KB (Shol: % 2)
SA - ZE . BR(8) - HRAR - BES A 2
3. AL &bl 400,000 x25 800
4. 22 HAN ANAE(PACS) SXIE2=HI
330,000 x 12 3,960
202 04| 2,550 2,100 450
01 2LHA b 2,550 2,100 450
| BANLL RS
150,000& » 132 1,950
2.2 2B+
150,000 x4 600
203 HR=4AY] 3,000 3,000
03 A=A PR F&| 3,000 3,000
TAIBZNHR =AY 3,000,000 3,000
301 LEtE NS 1,480 1,400 80
11 AALRHIXIRS 480 400 80
lLeIRZ2H2d 4,000& »120H 480
14 JIEt2 =3 1,000 1,000 0
1A SAH2 S 5,0002 x45E #43] 900
2. &0l XI=Hl 100,000& %1 100
307 gl2tol & 33,080 33,050
012z & a=Hl 33,050 33,050
1LYE2AMSAAE d4E5 7L
12,5002 +800 10,000
2. BUFHAN 5,000 +3203 1,600
.0gESAL 90,000& ~12& 1,080
4NEARE 2 85,0002 123 1,020
S5.MEZZNH2EAEE +
100,000 * 10CH 1,000
6. B A AlSf 18,250
UMz =
500& 15,000 7,500
LI OldSHE
5002 *55+1,700% 4,250
CH HIZS3E kit system
2,000&+1,000& 2,000
ct. ot det
3503 6,000 2,100
OF. J1EFD1XEXK 3002 8,000H 2,400
7. EAMS A DR 1,000 = 1000H 100
NS SHAY R==At SmESS 1,836 1,940 A104
J| 918
T 918
201 er23 | 1,836 1,940 2104
Jl 918
- 918
01 AtR2telHl 1,836 1,940 A104
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SN YERAT L
M HHRAIH|(LEE2AXL)
chol: ol (19 @)
RA - BE - SHAEH) - HRA - BAS ofl &t e DS
AY2LZH(Y=EAHR L) 656,299 643,810 12,489
= 9,890
Al 4,945
- 641,464
el 2| 591,237 577,260 13,977
= 9,890
Al 4,945
- 576,402
el 24| 543,530 577,260 A33,730
101 @124H| 523,436 558,121 AN34,685
01 &= 344,949 351,691 N6, 742
(zD224) 9,727
1.6= 12,8442 %2 +34A 2t 128 10,481
2.7= 11,6023 x3E *34A| 2t 123 14,201
3.8 10,4162 x4 +34A 2t 122 16,999
4.95 9,860 x2S *x34A| 2+ 123 8,046
(LD IHE &) 234,409
1.8938 7,564,660 «2F « 122 181,552
2. 1<l 181,552,000 *2% 3,632
3.A43exE 36,265
o geeag
1,195,000 «2F « 122 28,680
LE AlZERI=E
15,0502 x 1 +34AI 2t 123 6,145
Ch.otE=g 120,000« 12& 1,440
4. ZHSAHI 140,000 x2&« 123 3,360
5. 252 x| 400,000 «2H*12& 9,600
(dErdDIMs= &) 60,813
1.9 4,112,660« 1& 128 49,352
2. XM HH| 49,352,000 *2% 988
3.3+ 4,970
AR E
10,4163« 18 x34A[ 2+ 122 4,250
Lt JI&E=E 60,0002 «12& 720
4. ZHSAHI 140,000& x 1+ 123 1,680
5. 252 XH| 180,000 x 12 » 122 2,160
6.CHeI 2SI 50,0008 x1&x 122 600
7. 0E2E 60,737,000 *1.75% 1,063
03 SRA(RIAH) 22X+ 178,487 172,609 5,878
(LArEeIA}) 38,849
1.8 38,849
Jh20i(8E8)
1,973,600 x1&* 122 23,684
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SIE RN
YL H B (YRR AKIL)
ol 2|
SA - B ORI(B1) - HIRAY - BES A
Lt &3 1,973,6003 * 15 *240% 4,737
CH.E3ES0tl 1,973,600 * 12 *120% 2,369
ct. HAZAlH| 140,000 1B+ 122 1,680
Ot nESEZEH| 120,000&*1H + 122 1,440
gt AIRIQI 2 R+E
12,7202 x150%+ 10AI 2t 1H * 128 2,290
A SRt 101, 760212 152 1,527
OF SaE2ag
30,0003 x1H 123 360
PNISE=Y] Fala] 38,087,000 *2% 762
(SSHYA 39,450
1.8 39,450
20 (1083)
2,007,600& x13]x 122 24,092
Lt &3 2,007 ,600& * 1% +240% 4,819
Ct.EE30tdl 2,007 ,600& 1 *120% 2,410
ct. HAZAlH| 140,000 x1H* 123 1,680
Ot WSS | 120,000 x1H* 123 1,440
gt AlIRIRI 2 2+E
12,9153 x150%* 10A| 2t 19 128 2,325
Ab. QI XpAE 108, 32021+ 12+ 152 1,550
OF SR Rag
30,0003 x 18« 12& 360
PNIPSECY] Falall 38,676,000 2% 774
(S2IXIZ A 38,849
1.8+ 38,849
t20(8ES)
1,973,600& *1Z 123 23,684
Lt. &3 1,973,600 *240% 4,737
CHYE&ESOt| 1,973,600 *120% 2,369
ct HAZAlH| 140,000 x1H» 123 1,680
Ot nESXEHI 120,000 x1H* 123 1,440
gt A2+l 2R
12,7203 x150%* 10A| 2H+ 123 2,290
Ab. 1R 101,760+ 12+ 152 1,527
OF S4F 2y
30,0003 x 1« 12& 360
PNIUSESD Fala] 38,087,000 2% 762
(GLA}) 38,547
1.8+ 38,547
BIR=10:10a=1=))
1,956,600 x 1+ 122 23,480
Lt A0S 1,956,600 12 *240% 4,696
CH.Z2E S0t 1,956,600 * 1 *120% 2,348
ct. HAHZAlH| 140,000& 1E + 122 1,680
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SN YERAT L
M HHRAIH|(LEE2AXL)
chol: ol (19 @)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Ot W SZE&H 120,000 x 1 * 122 1,440
BhAIZ2IZ22E
12,6202 %150 10A| 2h» 128 122 2,272
Ab. @ Rh 2t 100, 97624+ 12 x 152! 1,515
OF SaE2ag
30,0002 x 1~ 122 360
Rt H M bl 37,791,00021%2% 756
(A2 22,79
1. 24(652) 22,79
o.20i(65%)
1,302,800 x1E 12 15,635
L. &= 912,040 x12H 23] 1,825
CHYESIH)
1,302, 8902 12 +30%*22] 782
ch. Uz At 140,000« 12& 1,680
OF. W SE X4 120,000& «12& 1,440
Bt A Xt==E 13, 1003 #5A1 2t 16 983
Ab. X SIH &I 22,345,000 2% 447
M HASFESS 20,094 19,139 955
M SRA(RIHY) 22N BEEERE=s S 20,094 19,139 955
LOEEEE 181,988,000 *1.75% 3,185
2.4 A2 e = 181,988,000 +0.786% 1,431
3.2 EEE 181,988,000 *4. 5% 8,190
4. RUALEE = 181,988,000 *3.545% 6,452
5. -0 BINQYEER
6,452,0002 *12.95% 836
QAU (KIGAISI S A THE ALS) 47,707 0 47,707
= 9,890
Al 4,945
- 32,872
101 ©1AH| 40,224 0 40,224
= 8,319
Al 4,184
- 27,721
03 SRA(RIH )22 U2+ 40,224 0 40,224
(R XIZA}) 40,224
1.2+ 40,224
oh.20i(1053)
2,007,600 «1H*12& 24,092
= 4,941
Al 2,500
- 16,651
Lt.&0= 2,007,600 + 1 +240% 4,819
= 1,004
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SN AERATA
M HHRAIH|(LEE2AXL)
ciel: olziedy| (B9 &)
RA - BE - SHAEH) - HRA - BAS ofl &t e DS
Al 502
T 3,313
Ch EEFOH 2,007,600« 1H+120% 2,410
= 506
Al 252
- 1,652
ch. s at] 140,0002x 1+ 123 1,680
= 353
Al 176
- 1,151
OF. W SZ22&H 120,000 x 12 * 12 1,440
= 300
Al 150
- 988
BhAIZIZ22E
12,9153 % 150%+ 10AI 2t* 122 2,325
= 488
Al 244
T 1,593
Ab A Xt==& 103,320 x 12 » 15 1,550
= 325
Al 162
- 1,063
OF SAFRag
30,0008 x1&x 122 360
= 75
Al 36
T 249
NIWSEV Fall 38,676,000 «4% 1,548
=2 325
Al 162
T 1,061
201 er=23| 240 0 240
= 50
Al 25
T 165
01 At2teltl 240 0 240
(fIEtmSHI) 240
I &R BA HEQI W]
120,0002 *23] 240
= 50
Al 25
- 165
202 04dl 2,800 0 2,800
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SN YERAT L
M HHRAIH|(LEE2AXL)
chol: ol (19 @)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 583
Al 291
- 1,921
01 2K 2,800 0 2,800
1.£&H] 200,000 x1&~ 128 2,400
= 504
Al 251
- 1,645
2. 22|04l 200,000 *23] 400
= 84
Al 40
- 276
M HASFESS 4,443 0 4,443
= 933
Al 445
- 3,065
04 SR (RIH 22N BE=RES S 4,443 0 4,443
1.U1E28e 40,224,000 %1.75% 704
= 148
Al 70
- 486
2SN EEE 40,224.,000& 0. 786% 317
= 67
Al 32
- 218
3.3 EEE 40,224,000& %4 5% 1,811
= 380
Al 181
- 1,250
4. =0ABEEE 40,224.,000& *3.545% 1,426
= 29
Al 143
T 984
5. -0 ¥eYFE=
1,426,0002 *12.95% 185
= 39
Al 19
- 127
Jl=23H 65,062 66,550 1,488
Jl=23H] 65,062 66,550 1,488
201 Zet=3hl 34,282 32,410 1,872
01 AtR2t2lHl 24,252 22,380 1,872
(Et==2Hl) 10,910
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MEE
Ofl &k2h

10,030

ol &rey

2,240
2,400
2,660
2,250

330

720
528

600

152

200
250
250
2,820
980
280
840
720
9,072
9,072

1,200

1,200
10,030
3,490

720

120
750
1,900
1,300

- SRA(E) - HIRAY

- ESS

SRR

*3002

Z=
=}

80,000&+15

]l

,000& 8
110,000 & #38 A

200,000 » 14 »80%
150,000 * 157K

1

al

30,0002« 15
40,0003~ 123

ol

4ANREED
5.ENTY

40,0003 =128
30,000 »2CH =128

22,000 =20 =122
50,000 * 123

t

9. IIESM=+2
10. AL

8.4l

A

3+
R0
A
El

=

3

19,0003 »2& *4

il

=
Ho
0o
T
<0

I

1. HIDICH

3

50,0008 52
140,0002+7%
40,0008+7%
120,008 7%
240,000 32}

100,000& *2

9,000 x 142 +6A!x 12
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=

|=Hl)
3.2 2D |AlPIE W

Al 012)
AR EAl 0|12 22

00
ok
)]

100,000 120 &

1.

30
0K
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HIAL

al
=

o
O
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no

[=1]

OF

60,0002 «12&
10,0002« 122

250,000 *3CH

FAl
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3.4

4 NSIHEEZ

650, 000& *2CH
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=
ol

i[3]
10

600

600,000 *1CH
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SN YERAT L
Mz HHSHAY|(AE2EAHXA)
&l D122 (CH9: &S1)
SA - BB - S(3H) - MRAY - BES Ofl by e MimE=E)
(Al ZHH|IKXIH]) 2,220
1. HALRHI S X 22l 110,000 *6CH 660
2.2 A2 100,000& x 128 1,200
3 XSUMALAHERT B4
30,0002 x1CH* 128 360
(Xt etd]) 4,320
1. XIS SHI Y|
120,000& *3CH*x 128 4,320
202 04| 26,880 30,240 3,360
01 2| 26,880 30,240 N3,360
1. BAHHERFXD 20|
20,0003 * 10 * 14 %12 x60% 20,160
2. 322 2L
20,000& 73| x4 122 6,720
203 PR =&IH| 2,700 2,700
04 EASHH 2= 2,700 2,700
1. 2EASHLERFAY|
250, 000! x 128 x*00% 2,700
204 AR A 1,200 1,200
01 MHZHR =AY 1,200 1,200
1. A HZHARE=XY|
100,000& 1A x 122 1,200
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